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RRALSY ARIEE LD
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(m) (m) (m?) (m) (m) (m?) (m) (m) (m?)
NO. 0 NO.O +  0.00 0. 00 8. 60
NO. 1 NO.1 +  0.00 20. 00 8. 60 8. 60 172. 00
NO. 2 NO.2 +  0.00 20. 00 8. 50 8. 55 171. 00
NO. 3 NO.3 +  0.00 20. 00 12. 10 10.30 = 206.00
NO. 4 NO.4 +  0.00 20. 00 12. 70 12.40 = 248.00
NO. 5 NO.5  +  0.00 20. 00 13. 50 13.10  262.00
NO. 6 NO.6 +  0.00 20. 00 15. 40 14.45 = 289.00
NO. 7 NO.7 +  0.00 20. 00 16. 10 15.75  315.00
NO. 8 NO.8 +  0.00 20. 00 15. 00 15.55  311.00
NO. 9 NO.9 +  0.00 20. 00 13. 00 14.00 = 280.00
NO. 10 NO.10 +  0.00 20. 00 12. 60 12.80 = 256.00
NO. 11 NO.11 +  0.00 20. 00 12. 80 12.70 | 254.00
NO. 12 NO.12 +  0.00 20. 00 11. 50 12.15  243.00
NO. 13 NO.13 +  0.00 20. 00 9.30 10.40 = 208.00
NO. 14 NO.14 +  0.00 20. 00 13. 10 11.20  224.00
NO. 15 NO.15 +  0.00 20. 00 13. 60 13.35  267.00
NO. 16 NO.16 +  0.00 20. 00 10. 60 12.10  242.00
NO. 16+8.5 NO.16 +  8.50 8. 50 10. 60 10. 60 90. 10
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X JH (RHID)
(B, 15, X5 - B 6. 70 X 2.00 13.40 m
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V= 108.50 X  0.10 = 10.85 m°® 10.
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V= 9.51 +  3.44 = 12.95 m°® 13.
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v= 8.13 + 2.80 + 1.75 = 12.68 m°® 12.
I R A R E/HEll = 10. 85
IR = 12.95
= 23.80 m° 23.
R& A3 B i K+ = 0. 00
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= 12.68 m°® 12.
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V= 23.80 — 12.68 /0.9 = 9.71 m°® 9.
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(m) (m) (m?) (m) (m) (m?) (m) (m) (m?)
NO. 0 NO. 0 + 0. 00 0. 00 7.00 7.00
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(m) (m) (m?) (m) (m) (m?) (m) (m) (m?)
NO. 0 NO. 0 0. 00 0.00 6. 60 6. 60
NO. 1 NO. 1 0.00 20. 00 9.75 8. 18 163. 60 9.75 8. 18 163. 60
NO. 1+16. 0 NO. 1 16. 00 16. 00 7.55 8. 65 138. 40 7.55 8. 65 138. 40
&t 36. 00 302. 00 302. 00
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